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OBCM/D-20 26071
BUSINESS STATISTICS-I
Paper—-BC-302

Time Allowed : 3 Hours] [Maximum Marks : 80

Note : Attempt five questions in all. Question No. 1 is
compulsory which comprises short answer type
questions of 4 marks each. Attempt four
questions from remaining eight Questions

carrying 15 marks each.

FA UG YA & SR MUl Y gEm 1
gfrard 2, foad o S99 99 € 91 9l
YT 4 3k k1 Bl AW 8 YAl W § R 4
Yo & I AU gAF YA 15 3Tl B ol

Compulsory Question ( 31f-amd T97)
1. Write short notes on the following : 5x4=20

frafafeq w® dfaw fewfor fafen -

(a) ‘Statistics’ in singular sense.

HfeTh! &l Thaed & &9 H qifyd ssifswl
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(b) The uses of Correlation.
HeHdy 1 IYAE|

(c) Various sources of collecting Secondary Data.

fgiid 3Tlhel i Shedl BT & fArd= Fal
(d) The components of Time series.
FIA YU & HEH|

(e) Four importance of Probability.

Tifrehal & IR HE|

2. “Statistics is not a Science, it is a Scientific method.”
Discuss it caritically and explain the scope and

limitations of Statistics. 15

“giferent T fomm &, 98 U o=t faty 217 5w
T T SATAEATCHe foo=q whifslt 3R wifeenl &
&9 SR Hmel W T ity

3. (a) What are the Mathematical properties of

Arithmetic mean? 5

AR HIEg &I A fawead = e

(b) Find the missing frequency in the following
distribution, if N=100 and M=30 : 10
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g N=100 3R M=30 &, a fr=1 foaor & o«
A Sl Tl ST

Marks 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60

No.of Students| 10 ? 25 30 ? 10

4. Find Correlation coefficient between age and playing

habits of the following Students : 15
frefafed o & 39 IR @ &l cdl & &

qeddy TUis  @isl

Age (Years) No. of Students | Regular Players
15-16 250 200
16-17 200 150
17-18 150 90
18-19 120 48
19-20 100 30
20-21 80 12

Also calculate probable error of Coefficient of

Correlation.

qeday & TUMeh ! Heifad Ffe & «ft 7oA wifsu
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5. You are given the following Data about Sales and

Advertisement expenditure of a firm : 15

ARl fret w0 ) faw! R fogod =@ & a) o
fefafed stee feg T €

Sales Adv. Expenditure
(Rs. Crore) (Rs. Crore)
A M. 50 10
S.D. 10 2

Coefficient of Correlation (‘r’) = 0.8
EHaY T UM (‘) = 0.8

(a) Calculate two Regression Equations.
S g GO i U i)

(b) Estimate Sales, when Advertisement expenditure

1s Rs. 13.5 crore.

If fomma W 13.5 S T @9 foar 9,
fasht 1 SAFHME FmEU

(c) What should be Advertisement budget, if the
company wants to achieve a Sales target of
Rs. 70 crore?

IS ST 70 FAS h1 Tkl 1 A T HEA

aEd §, 9 fasod ase @ s =R
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6. What is Fisher’s ideal index? Why is it called Ideal?
Show that it satisfies both the Time reversal test as

well as Factor reversal test. 15

fRYR 1 TSyl Yuehih 1 8?7 TH oISy A e
ST 27 feEmd ff a8 99g SohHU 9heu 3R HRS
ToIE IRETT S Rl TR Rl 2

7. Construct cost of living index number from the

following Data of 1986 using. : 15

1986 & ST & fau fr=Afafed smar gmi 9
fafy= fafe=l =1 g9 wd gu Sieq fafe ga@is
1 TMOET HINT

(a) Family Budget method

qiaTer dsie fafy

(b) Aggregative Expenditure method.

eohd T Tafe

Items Quantity Unit Prices
Consumed in 1985 1985 | 1986
Wheat 4 Qtls Kg 1.50 | 1.60
Rice 50 Kg Qtls. 800 | 1000
Cloth 40 Meter Meter 20 25
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Oil

20 Litres Litre 1.80 2

House Rent One House House 100 125

8. (a)

(a)

(c)

State and prove Baye’s theorem of Probability.

YIeRdl o1 999 THY A ®? 39 fag wifwu

Discus properties of Binomial Distribution.
fgue faaor =1 fasmaeti w1 oo wifsT

Discuss the properties of Normal Distribution.

g faaeor &1 fagiwast 1 guie sifsu
5x3=15
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